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AT Apf

AT

6 Apf



1.2411.36/1.38/1.38|1.38| 1.4 {1.48|1.54|1.56
Af
1.7211.7411641182| 19 | 1.7 |1.82]|1.82|2.08
1.1411.18| 1.2 |1.26|1.28| 1.3
Apf
1.7811.96|1.86| 2.0 | 2.0 |1.96
1.24 1.8 1.28 1.84 1.4 2.04




2 DNA

DNA 20
1—10
A 11-20 B
DNA

20
21—40 182 DNA



al="aggcacggaaaaacgggaataacggaggaggacttggcacggcattaca
cggaggacgaggtaaaggaggcttgtctacggccggaagtgaagggggatatg
accgcttgg”;

bl="gttagatttaacgttttttatggaatttatggaattataaatttaaaaa
ttatattttttaggtaagtaatccaacgtttttattactttttaaaattaaa
tatttatt”,












@

X={Xq, X5, «.vy X}

M.={a,,....a,}, M,={bq....b.}

02(x,G)=(X-M1)' S 1 1(x-1y)

02(X,G ) =(X-M,)'S ;1 (X-M1,)
21 20




21727 2
d2(x,Gy)- d2(x,G,)=-2(~(H 1+ H)/2) S (1 ;- 11,)
W(X) W(X) X

X G; w(x)>0 /

X G, w(x)<O
w(X)=0




MM 2120



0.1

0.05




G, G, x(1) x(2)

nl,nz
G, G,
G, N4
G, Ny,
Gl GZ
N>+Ny,
é — an + n21







2 Fisher



Fisher

Apt  y=0.8883
1.126 X




Fisher

y = ax,

a=(,- 1y)’ >, 21522



Fisher

_afy tan,
2

m

1 e
= E(ﬂl —1,)'Z 1(1“1 + 14,)

Fisher
fisherl.m(
AT



3 Bayes

Bayes

Bayes



(Cluster Analysis)









12 p 1
| [kzzll(xik _Xik)z]i’dijq :[Zp:(x- -

q 1 i = E X., —
| y XJk Minkowski

k=1

d.°
ij (M) — (Xi _Xj)lz_l(xi _X')







Hierarchical Clustering)

15 D



Matlab

cluster (linkage)
clusterdata (X)
dendrogram

linkage

pdist
squareform

zZscore X



1 T = clusterdata(X, cutoff)
X cutoff

Y=pdist(X,'euclid’)
Z=l1nkage(Y,’single’)
T=cluster(Z,cutoff)



2 T = cluster(Z, cutoff)

VA
li1kage (n-1)><3 cutoff

3 Z = linkage(Y)
Z = linkage(Y, 'method’)

Y pdist
n(n-1)/2 'method’
single) ‘complete’——
‘average’'—— ‘centroid'——
‘ward'——



4 Y = pdist(X)
Y = pdist(X, 'metric’)
X ‘metric’
‘euclid’
‘SEuclid’ ‘mahal’
'‘Minkowski*

5 H = dendrogram(Z)
H = dendrogram(Z, p)

li1kage Z P
30



juleil.m)
X=[7.90 39.77 8.49 12.94 19.27 11.05 2.04 13.29;

7.68 50.37 11.35 13.3 19.25 14.59 2.75 14.87;
90.42 27.93 8.20 8.14 16.17 9.42 1.55 9.76;
9.16 27.98 9.01 9.32 15.99 9.10 1.82 11.35;
10.06 28.64 10.52 10.05 16.18 8.39 1.96 10.81];

BX=zscore(X); %

Y=pdist(X) %

D=squareform(Y) %

Z = linkage(Y) %

T = cluster(Z,3) { T=clusterdata(X,3) }

find(T==3) % 3

[H,T]=dendrogram(Z) %
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